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Math 12 Final Exam Pre Test/Exam Outline

NO CALC

1. Determine the range, maximum and minimum values of the following graph
y =-3cos2(x+3)-1 Gmp\hLuc\e' 2
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2. Simplify the following  sinx+cosxcotx
L2 7 2 ———
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3. Determine the exact value :
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4. Solve
2cos’x +cosx—3=0
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(2505"+3> (COSX'1> =0 ——+ 20sx+370  op C0S%-1=0
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5. Sketch a graph of the graph of y = csc2x = COS] S—l Z)
The graph Ojf Y=C5c2x 15 the same a5 y=— mu NO solumon
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6. Determine an expression equivalent to 14cos’12x — 7

use €0820= 205 6-1
- in this case | (4cos?i2e-7 = 7 (2costiax-1)

= 2c052(2%) = |Fcos z4x

7. Determine the period of the graph y=5sin3x

pe.nod 21‘( %O" y= slnbx anc\ \/ Cos\ax

b=2 ,° Pertoc\ {_2?'

8. Solve cosx=sinx, where 0 < x < 2.

C1WF‘W \I Sln;( anA \/ =COS X 0N some 3r\c\ Tn'\trscf\‘lon Pom‘k's re[)rcsen‘\f \jnﬁ SO\UL—HOH.
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9. What is the asymptote for the graph y =2log,(x —1)+3

¥ -1 mustbe Srad’er fhan 2,610

V-15>0 —p X>1+ —» asjm?\’oﬁ L@ [X=1
10. Determine an equivalent expression to 2logx - logy - 5logz
7 l 5
= Kij —[ Oﬁ\fr \032 ]
- \ogx*- [ loS \/ﬁ]
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11. Determine an equivalent expression to IOgZ
0g

use chanf)e ofe base rule
= e |

12. In a Petri dish bacteria triples every 3 hours. If there were 300 bacteria to start and there are

currently 5000 bacteria, determine the equation that would be used to find how long the
bacteria have been in the dish. {/6

fr\? €S every \')ours Weons 5 2

S 5000 = 300 (%)/3 log(%>=%\035
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13. Solve: 5(25%") = (I;SIX -
2K+ ‘ Since ‘H’lﬁ bC\SQS are = ‘H?€ ex?onen+3 mb(f)'{- \—;Q =
5* = |
g( ) | 4)(+7_) =‘Cl>< ‘)(= .._/.3 j
5(5 AX+2> 54')( ‘ %= "9y - 4x
[5[+47<%'Z ) 5'%( A=-|%x

2
14.Ifloga = 2.5 and log b = 1.5 find 1Ogl()ObOa

\03 [Oioai 2 \03 000 + ‘03 o = logb
= 2 4 1‘03q ) (\%caus;c log\ﬂl,é'\
= 7+ (’Zv‘5> -5 <becqu«se, \03a= 'Zv€>

= 2+ 5-)\.5
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15. Simplify

I
% (%=1) X=X

16. If the graph of y =2 f(x) -3 is reflected over the y-axis and then translated 5 units left, what
is the new equation? r

0|
\/: z§ (.X)-‘.S re‘D‘QCC X with-x ®

eplacd \HW
D - ’2?((X+€)>3 e RS

[y=2§ (-x-5)3]

Calculators allowed
17. The graph of y = f(x) is reflected over the x-axis and vertically compressed by a factor of %%.
Determine the equation of the new graph. ’K(D

-y %()L) re,? ace Y with -y ®
@ -fz\/ —.g(,q R\:\acc )| with 7.\/

18. Describe what happens to the graph of y = f(x) if it becomes y =-2 f(3x+9)-5.
rewrite as 7’_:.»”'2% (5(><+__'5)) -0
/ N Tyertical franslation 5 units Dow

/ N
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re lect ton a\7ow\' / ‘ :
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19. Find the inverse of f(x) if f(x)—z);;:1 E;Sr—‘h.- P \/:_ —ZE—J—
X
switch x qnc\y
£ = 2yl _oolve oy l;)L\[':?.\/-\'\ s Awy-2yrl \/(5')(-2>=1

£ e
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\/ Ay-2
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20. If the point (-3,9) is on the graph of y=f(x). Determine the coordinates of the point after the

transformation given y =3f(—%x)+1 : 0) Vert, eﬂ\).facf 3% 2 (’ 7 r;q)
@ f \ @ r@&l' “n Y-QXI\S _—F L )
06 © () horis exp-fact s — (4 ﬂjf)

® verte drang. 1 unit up (C‘)28> ’

21.. Ifthe point (2,-4) is on the graph of y=f(x). Determine the coordinates of the point after the

transformation given y +1 :f(~%x+l) @ R‘%- l'h \/-C\Xis . (_,2 - 4>
rerite os \ﬁ\ = (/ y (%-2) o &2 a
/] ) ® hotisg exp-foct 2 ————p (-4 -4)
| horis,. trans . 2 units RigHT -9 -
b 809 O e R
| ® vert Trans . 1 unit Pownd — ] (_,2_ -5) l
“cmns\qjﬂ'ons are a\vla\/s done LAST -

22. The terminal arm of angle A in standard position intersects the unit circle at the point (b,c).
Determine an expression that would represent 5cscA. ‘
TUT
¢sC o= —t—
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23.In acircle, an arc length 10.5 cm contains a central angle of 22°. Determine the radius of the
circle.

use a=fre — rzgmem\oer) & must be i radiang
180 "T_r, oy 6= T2 = 0,%84 radians
2 6 \gor
_ 10.5 em = 721.,%5
r=Q0 > = - > r= 7% cm
) 0,%%4
24. Determine the restriction(s) for the expression i e
cscx
4%
- S
tanx -2 T |
C5C % F COSX #0O
i (56X £0
[9nx¢o

25. Determine the equation of the polynomial in factored form if the zeros are
-2,-1,2 and the y-intercept is -5.

V= a (#+2) () (x-2) -5= ~4a

v= 57 (xe2) (4 0) (%2
passing through (0,-6) -_}4 - a _/_4 > >

-5=a (0+2)(o+)(0-2)
_5 = (D)D) =%

26. Determine the reminder when x° +2x* —3x® —2x%+5x —1 is divided by x-1.

PO = 1T+ 2()- 3(0) 2 () +5(1)-1

= 1+72 -3 -2+5-1 l
1 2 o-1 3
"E 130 -123]2

OR  SNTHETIC PVisod

it 9 =58 =3 B =1

27.1f a polynomial P(x) is divided by x-3, what is the remainder?

v()

QEMA\HDEK



28. When 3x° —x* + kx + 5 is divided by x+1, the reminder is 7. Find the value of k.
PED)= 30 (1) - k()45 =7
-3-1-k+5=%
= 1-%
-4 -k+5 =
1= 31K k"éj
29. Determine the domain of the following function p == —3x-9
Zx-9 MusT be 3(&21((’( than or equs| 1 gero i order take e square st of it
oo Zx=1 =0 ._
X 2q s 4 X» 5

30. What are the vertical and horizontal asymptotes of the following rational function:

5x' =20x 9
oy (x®=4) _ sx(*)(x-2) | 5 (%-2)
Y (xl—x-b) % (X42) (x-3) (x-3)

\f\orw ovtal ag Ejm‘f\o)fc @ y=
\/erhco«\ asymptote @ %= '5
31. How do I know if a rational equation does not have a horizontal asymptote?
\When the J1‘op Po\\,nomia\l 15 nore than 1 c\ejrce, higher than the
bottom polynomial .

ex, %Xgﬂ__
Ay+1

32. What is the decimal representation of log,234

log 224 = ‘g—gq'

log 5

. Use the c\wanﬁe of base rule

y.l\mch ejra'\‘es \ogbq = [og
log b



33.Find (f og)(x) if f(x)=x"-5x and g(x)=x+3

£(909) = £(x+2) (><+?>)2- 5 (x+3)

= Y bxx9q-46x-15

i

¥Z+x—é j

i
i I

34. linvested $5000 in a bond at a rate of 4.5% per annum compounded monthly. What will the
value of the bond be worth at the end of 6 years?

L0446 (V2n
A= 5000 (L+—3 where n=6

[ Teste

35. Determine all of the different arrangements of all of the letters of the word EQUILATERAL.
7 &

1 e
il (4%8%00] o L
T A

36. Determine the number of pathways of a small town if there are 6 blocks travelling east from
the north-west corner of the city and 7 blocks south to the south-east corner of the city.
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37.In a standard deck of 52 cards, how many poker hands are there with exactly 2 aces and one
jack?

ches . & ‘ijk , 2 other cards

4C’L X 4C1x44C,L.: 6 < 4 x Q44
]22‘16_4']

2 6
38. In the expansion of (xQ - —J what is the coefficient of the constant term?

1l

(3" (609 G 6 (R )
¢, (<) }X

6 CA (X4> ( %4) == C4 b JC‘(M w<f£|’u'm)r

39. A book store has 5 new fiction books, 3 new poetry books, 7 new non-fiction books and 3 new
cook books. The owner wants to display all of the books in a row in the store window, but wants
to keep all of the fiction, non-fiction, poetry and cook books together. How many different
arrangements are possible?

5\ 3! 7! 2!
4 * ) B 7l % 1 to qr(angt the 4—‘HP€S

slozlarlaz! 4l = [522 547200 |

40. There are 7 brunettes, 5 blondes, 2 red-heads and 5 people with black hair trying out for 4
spots in a hair commercial. How many different combinations are possible if at most 2 blondes
are chosen for the parts?

A‘\' mos+ 7 \;\onAcg means _HO B'o_nc\eé , onhe l’)\ onAc ; %‘Wo uon(‘es

5 Llondes -and 14 othere — 1Ca * oCiv1aCy *

1001+ (5) (264) + (10) (A1)

1001 + 1920 1+ 9|0
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8 written questions: ij
Trig Equation ~

Trig proof Teans o
Polynomial factor and solve

Transformation graph question

Transformation graph question

Log equation p-\@% v a4~

Ferris wheel type question [:746 ¢4

Binomial expansion

9
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x ic\eh}fr%inﬁ l03 func w1 j“‘l’h ((9-16\ {3 ) pe1éd “6,%)

X solve o Jtnj en. (pzes)
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